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Instructions for Candidates

1.  Write your Roll No. on the top immediately on receipt

of this question paper.
2.  Attempt any five questions.
3. Use of a Simple.Calculator is allowed

4. Answers may be written in either English or Hindi,

but the same medium should be used throughout the

paper.

P.T.0:



5209 - 2 . , 5209 11

ol @ B fdw : 6.

Answer the following questions: 9 +9 = 18)

1 WUH-TT & fier § g Ry FuiRe v w s
: (a) What is Money? What are the functions of
Fghdren feifiag |
money?
2. T&& %t uiw v = wEm
: (b) Write short notes on the following:
3. U& HURY Hegect H I FA S FA 2

(i) Positive and normative economics

4. T9 WS 9F o1 IR Ieh a1 B R v v W afve afee
| IR T AAR U B BT IR |

(i1) Unemployment

(iii) Ricardian Equivalence Proposition
I.  Answer the following questions: 9 +9=18)

Frefofas wl & Ier Afe:

(a) What is a business cycle? How does the

unemployment rate behave over the course of a (%) =7 = 27 o & w27
business cycle? Does the unemployment rate ever

(@) Fffae w e Rt fifees

reach zero?

(i) M AR AE A

(b) Explain the differences among the nominal interest

rate, the real interest rate, and the expected real

P.T.Q.
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5.

Answer the following questions: 9+ 9=18)
(a) Define user cost of capital and explain its

components.

(b) Using suitable diagram(s), explain how
a decline in the real interest rate
changes the desired capital stock in the

economy.

e wt & W afow:

(F) gt &I IwEaEal dng & IReiiE i
HX TER HEEl w oTEd @Ifagl IUgEd
R HT IJUANT Fih, T8 aweed o arafdE ene @

¥ fimae

(@) sfemaen ¥ Ffod OO e & 29 dG@ad 8

5209 - 3
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interest rate. Which interest rate concept is the
most important for the decisions made by

borrowers and lenders? Why‘?.
ffefaa vl @ 3w A

(%) =R o @ 27 Rl R 9w @ R ARSI )
Y TEER FER B7 T RO R W T qE

w27

(@) AFFE oW R®, RS e W SR sEfE Tt
S & ® O 3T d e S| SURE IS 3R
SuReEA g o 7w foidl & e wF-@ e w
AU qEY wEeq 27

‘Answer the following questions:

9+ 9 =18)

(a) What are bond prices and bond yields? Explain

the relationship between them using a suitable

T,
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example. Illustrate this relationship with the help

of a diagram.

(b) Suppose we have an economy described by the

following functions:

Consumption function:C = 500 + 0.5Yd
Yd = Y - Taxes
Investment (I) = 1000

Government expenditure (G) = 2000
Tax Rate:t = 0.2

Transfers from government (TR) = 200

(i) Calculate the equilibrium. level of income and the

multiplier in this model.

(ii) Calculate the budget surplus or budget deficit at

equilibrium.

5209 9

Ffafag gl & I dfse

(%) Ta-3r¢ M@ & IWH F@, IJUwras
@ ¥ gfe @ afow g wwE, P o
ey ¥ aEafds oW o W UNEl @ S
i |

(@) it Ruder = 27 g8 el sefeqaen =
Y gOAHE o he walw 27 UE i,
dets W AR e, @81 1 WWad, 2022 9
St fRusier 5000 an Rweler 1 wWEd, 2024 T

6000 3R 1 9=EQ, 2025 9% 8000 7% @ T 2

- (i) w=Ed, 2022 3R 1 WH4Q, 2024 & q9 A AW
A Fafr ¥ s | et A affes o T
87

(ii) 1 SEd, 2022 ¥ 1 FFEY, 2025 TR A A
#t yafr A depdde ¥ o qEenifa o
87

P.T.0.
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saving, investiment, and the real interest rate in

the economy.

(b) What is GDP Deflator? How is it related

to the Price index of an economy?

Consider an economy, Chocoland, the_

where GDP deflator as of January 1, 2022
was 5000. The deflator rises to 6000 by
January 1, 2024 and to 8000 by January

1, 2025.

(i) What is the annual rate of inflation in
Chocoland over the two-year period
between January 1, 2022, and January 1,

20247

(i1) What is the annual inflation rate in Chocoland
over the three-year period from January 1,

2022, to January 1, 2025?
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(iii) Suppose that t increases to 0.25. What are the

new equilibrium income and the new multiplier?
Frefafea oA & I Al

(@) i = FR IR A dies = 87 v IugEd Jem
& ITANT S I W D GaH @ e Fio|
UF ANE # WeT A I G9Y F W Higl

(@) W Afm fr TR uw Feafafas w@d g@ afla o
Frfeqaen 2

Consumption function:C = 500 + 0.5Yd
Yd = Y - Taxes
Investment (I) = 1000

Government expenditure (Gj = 2000
Tax Rate: t = 0.2

Transfers from government (TR) = 200

P.T. 0O,
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(i) ww‘ﬁéﬁm%aﬂmmeﬂiwaﬁ
AT FifR

(i) ¥ge9 W dwic AREY o1 a9 " @ A
T

(i) mﬁrﬁqﬁ:tmozsam%tﬁ
AT AA R AW U R B 7

3. Answer the following questions: (9+9=18)

(a) Why are unemployment benefits referred to as
automatic stabilisers? Explain how these

mechanisms affect business cycle fluctuations.

(b) Discuss the effect of the fol]qwing on the money

market equilibrium, using suitable diagrams:

(i) Increase in the level of transactions in the
economy which increases Nominal Money

income

5209 T
(i) Contractionary Monetary Policy by Central

Bank
Frfefaa wet @ I Afvw:
(%) o aril = et Rudawor F9i @E o 27
g @9esd i A 97 UNR 9% @ IaR-9eE & he

e @ B

(ﬁ)maﬂﬁwmmﬂmw«
Frfofaa & o w o=t Fifm:

(i) sefomaen ¥ o9~ & W A e W A
U WG F oagEn ?

(ii) @ ¥ w0 Gmn A A
4. Answer the following questions: (9 +9 =18)

(a) Using the S-1 diagram, explain the effects of a

rise in consumers’ savings on desired national

PoED.



